PRACTICE QUESTIONS FOR COMPETITIVE EXAMINATIONS

SUB: MATHEMATICS

TOPIC 3: BINOMIAL THEOREM

« T
1. If the coeffidents of » & =° in the expansion of |:2+€i| are eqmal, then the vale ol n is
A 15 (B) 45 e ¥ 56
1T
2. The sum of the binomial coefficients of |:2x+—:| is equal to 256 . The constant berm in the expansion
x
it
(A 1120 By 2110 = 1210 ¥ none
3. The sum of the co—efficients in the expansion of (1 — 2« + 5&%F is 'a' and the sum of the co—efficients in the
expansion of (1 + xF is b . Then
") a=b B a=b Q a®=tb @ ab=1
q. Given that the term of the expansion (xV*— x™%'® which does not contain x is 5m where m & N, then mis
aqual to
(A 1100 (B) 1010 () 1001 ¥ none
M+fExr1] [i-Ja=+1]
5. The expression ! | - * —1 - : is a pobnomial in x of degree
Jae1y o 2 | =z
in) 7 B} 5 i 4 m 3
6. In the hinomial (2¥*+ 3%, if the rmfic of the seventh term from the beginning of the expansion to the
seventh term from its end & 176, then n is equal to
A B B o o 12 [ 15
i ,;'\I-'I
7. The term independent of x in the product (@ +x+7x")| x——= i=
. &
) 7.1, (B 35, ¢, o) 35 Pl o) -1z 21
B. It ‘a” be the sum of the odd terms & B’ be the sum of the even terms I the expansion of (1 +x)°, then
[l=x) is equal to
A a—b B a+b O b-a M none
9. The sum of the co—efficients of all the even powers of x in the expansion of (&3 — 3x + DY &
m 26" B 3.6 [ 64 [N none
10. The greatest terms of the expansion (2« + Sy whenx =10, v =2 is
() ”‘{.‘!I . 20F 1R (B 15{:5 R L 10 (C lz{:“ - i [ none of these
, 100
11. Mumber of rational terms in the expansion of |\||E+ 'W| i=

A 25 B 26 [k:. 27 o) 28




.o =
12. K |p]=l.'] for p < q, where p, g € W, then Z ]=
L ol \.2]-
A) 2 B 2 [C) 2= D) =C,
2% B foo )
13. [4; t+z‘{['J£ _1|=[x I: then x
= N R ) v
(A 11 B 12 (13 [ 14
14. K N& ni then I + I + ! - + !
-oRns s e 1. (n=1)! 3!@n-3)! &!p-5" n—1)111
=1
) 2 (E) T (3 Zn! [ none of these
15. Let R=|:5\1r§—11]3" =1+, where | is an integer and f is the fractional part of B, then B [ is equal to
Ay 251 (B) 3% () 28 1
Loy 15 )
16. The walue of E| ! | is equal to
g, T 14 —r)
i =, (B) *=C, [0 R (o) *=C,,
S S Cuw . .
17. T+?+T+ ...... —Tlsr_-x_p.lalt-:}[l'mmcr l:"(..l_]
21 2 a" all —1
W B = Ty B
n 1 n r
i8. K ar.=2$, then Z?. ) [JEE 98]
i ren
) (n-1)a, (B} noa (Ona 2 (I} none of these
19. The last two digits of the mmmber 3*° are
"y Bl B 43 Q 29 o 01
20. U the coefficients of three consecutive terms in the expansion of (1 + =) are in the ratio of 1 : 7 - 42, then
n iz divisible by
(A o B) 5 () 3 M 11
Que. 1 2 3 4 5 6 7 8 g 10
Ans. [ D B B A B C
Que. 11 12 13 14 15 16 17 18 19 20
Ans B B [ B C D B C D BE.D




